EVA TABLE 2025

ROUILLARD GUIDE D'INSTALLATION
INSTALLATION GUIDE

EVA TABLE

TABLES EVA RECTANGLE, CARRE, COINS RONDS ET RONDE /
SQUARE, ROUND CORNER AND ROUND TABLES

11" HAUT / HIGH

(TEV/TEVC)

Service & la clientéle: 1 800 463-1611
Customer service: 1 855 459-1954



EVA TABLE 2025

Assemblage pattes de métal / Metal legs assembly

Placez le dessus de table a I'envers sur une surface de protection afin d'éviter les égratignures.

Assemblez les pattes & la table avec 16 vis 1/4-20 x 3/4".

Place table top upside down on a soft surface to prevent it from scratching.

Assemble the legs to the surface using 16 1/4-20 x 3/4" flat head screws.

Quincailleries / Hardware

16 x Vis 1/4-20 x 3/4"
g 16 x 1/4-20 x 3/4" Screws

Assemblage pattes de bois / Wood legs assembly

Placez le dessus de table a I'envers sur une surface de protection afin d'éviter les égratignures.

Assemblez les pattes & la table avec 20 vis 1/4-20 x 3/4".

Place table top upside down on a soft surface to prevent it from scratching.

Assemble the legs to the surface using 20 1/4-20 x 3/4" flat head screws.

Quincailleries / Hardware

20 x Vis 1/4-20 x 3/4"
g 20 x 1/4-20 x 3/4" Screws

Service & la clientéle: 1800 661-1411 / Customer service: 1 855 459-1954




	Guide d'assemblage EVA- Tables- couverture 2025
	Guide d'assemblage EVA- Tables - page 2

